
平方根の計算－９ 
 
 
☆『分配法則』 
 
☆ 3   622    － 54           ☆  5415     ÷ 3  ＋ 52  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
１，次の計算をしなさい。 

① 3  246  ＋ 50            ②  2418  ÷ 3＋ 25  
 
 
 
 
 
 
 
 
 

③ 6  322  － 34            ④ 3  32  ＋ 2  23   
 
 
 
 
 
 
 
 
 

45

22 



 
 
 
２，次の計算をしなさい。 

① 32 － 6  3263             ②  7212  ÷ 6 ＋ 32  
 
 
 
 
 
 
 
 
 
 
 
 

③ 2  2332  － 22            ④ 6  32  ＋ 62  23   
 
 
 
 
 
 
 
 
 
 
 
 

⑤ 6 － 2  1223  ＋ 8         ⑥  8124  ÷ 3＋ 66  
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  例題；☆ 6226       ☆ 2353    

   １；① 6428       ② 236      ③ 3226        ④ 162   

   ２；① 183226     ② 2        ③ 66222     ④ 3229      ⑤ 6422    

    ⑥ 663322   


